Licz sprytnie!

MNOZENIE W PAMIECI
przez 9
Przyktad 1: Przyktad 2:
15-9=? 9.28=?
* Krok 1: 1510 = 150 * Krok 1: 1028 = 280
* Krok 2: 150-15=135 * Krok 2: 280-28=252
* Odpowiedz: 15°9=135 * Odpowiedz: 9°28=252
Przyktad 3:
Zadanie Krok 1 Krok 2 Odpowiedz
. 7°(9+1) =? . .0 —
7+9 =? T 70-7= 63 7+9 = 63
Przyktad 4:
Zadanie Krok 1 Krok 2 Odpowiedz
. _ (9+1)13 =? _ . _
9:-13 =? 10°13 = 130 130-13= 117 9-13 =117

Oblicz w pamieci: 12+9 =? 924 =? 35°9=? 9¢18=? 17°9=? 944 =? 23+9 =? 933 =?
149 =? 925 =? 789 =7 916 =? 189 =? 919 =? 34+9 =? 9.99 =?
Powodzenia!
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